	Sun
	Mon
	Tues
	Wed
	Thurs
	Fri
	Sat


	





	
	1
-98 + 67 – (-45) 
	2
4a + -6b – 10a + 11b – 8 
	3
(-5)(3)(-2)
	4
-2x + 8 = -10
	5

	6





	7
(-5)(3)(-2)
	8
-3(x – 2) 
	9

	10
-5.60 + 18.9
	11
-8.5 ÷ 0.5
	12

	13





	14

	15
-6x = -72
	16

	17
-80 + 12 – 3 
	18
7x + 12 + -2x –  10
	19

	20






	21
-10.2 + 120.97
	22
-8x + 2 > -6
	23
-3(x + 10) 
	24
You can bake 10 cookies in 12 minutes, how long will it take you to bake 50 cookies?
	25 Scale: 2 in = 6 ft
You draw a model of your room. The length of your model is 6 in and the width is 9 in. How long is the actual length and width?

	26

	27





	28
4x – 8 = 32
	29

	30
2 + 
	31
x(5 – 8)
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